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1. 10

(

330 / )

(A) 1650 (B) 490 (C) 245 (D) 380 (E) 3300

2. V F

3V

(A) 3F (B) F 3F (C) F (D)

1.5F (E)

3.

(A) (B)

(C) (D) (E)

4. 120 2.5

3.5

(A) 2.94 (B) 29.4 (C) (D) 5.88 (E) 58.8

5. L M

V

T 2V (

)

(A) 2T (B) 4T (C) T (D) T/ (E) T/2

6.

(A) (B) (C)

(D) (E)

7. 30

60

(A) (B) 2 (C) 3 (D) 2 (E) 4



8. 50 1 x 10-15

3

0.01

(A) 4 x 10-7 (B) 1.7 x 10-8 (C) 9 x 10-9 (D) 5 x 10-10 (E) 3 x 10-11

9. 4 20

1

(A) 20 (B) 10 (C) 5 (D) 40 (E) 2.5

10. 30 30 6

0.10 /

(A) 6.6 (B) 7.7 (B) 8.3 (C) 7.0 (D) 6.0

11. x x

(A) A (B) P

(C) B (D) C

(E) A

12. 273K 0 C

32 F 212 F

(A) 614 C (B) 574 C (C) 301 C (D) 276 C (E) -40 C

13. A B



(A) 13 kJ (B) 13 kJ (C) 23 kJ (D) 23 kJ (E) 33 kJ

14.

(A) (B) (C)

(D) (E)

15. L

(A) (B) (C)

(D) L M (E) L M

16. q x d -q x

0.5d E x 0.25d

(A) 2/3 E (B) 4/3 E (C) 10/9 E (D) 20/9 E (E) 49/16 E

17. V=IR V I R

IV 60 120

(A) 0.5 (B) 120 (C) 180 (D) 240 (E) 300

18. 1 2 r 1 < 2

1

(A) /r (B) /2r (C) ( 2 1) 1/r (D) ( 2 1) 1/2r (E) /2r



19. C , .d 1

1 ?

(A) 0.2d, 1.8d, 2.2d (B) 0.2d, 2.2d, 4.2d (C) 0.2d, 1.8d, 3.8d

(D) 0.2d, 0.8d, 1.4d (E) 0.2d, 1.8d, 3.4d

20.

(A) (B) (C) (D) (E)


